Q12 ~14RBF D A=RE-A—TOHBEY B=#X-TOv/HIBREK
[1: v K4 BEHRAUL | RBRAVL | HHRRA2L | R—FR
1 TR B 108.00 90.00 18.00
2 [BBA HA 85.50 45.00 40.50
3 G hE 81.72 61.25 20.47
4 B FBX 51.40 50.00 1.40
5 |A K& 45.00 45.00
6 T F4F 4463 13.50 31.13
7 I fE 41.80 10.00 31.80
8 EE OE— 39.67 36.75 2.92
9 |WEFE EX 37.15 19.75 17.40
10 |&)I] XK 34.00 20.00 14.00
11 AR ImE 32.89 30.00 2.89
12 |FFHKEEZ2NT 30.00 30.00
13 | GE 1B 27.78 1.70 26.08
14 | HE 27.36 17.00 10.36
15 |FrH FEfd 25.83 16.00 9.83
16 |(#&2]R &R 25.54 6.50 19.04
17 | KE BiE 24.11 23.50 0.61
18 [ith  HE 21.73 5.50 16.23
19 |iHK £3 21.00 17.50 3.50
20 |¥ 20.00 15.00 5.00
21 I BE 19.20 13.50 5.70
22 |[RIIE/ 19.03 10.00 9.03
23 |X%fd (5 18.73 12.00 6.73
24 |dtiE BHE 17.50 17.50
25 [ FOrE 17.06 4.06 13.00
26 |#EIR K 16.58 16.58
27 |J\KIREIDER 16.00 16.00
28 |/ K 8 12.84 11.10 1.74
29 |/Nk2 FREY 11.50 11.50
30 |iFE B 11.41 3.50 7.91
31 TIRF KA 11.38 7.91 347
32 |XKJL Kith 10.00 6.50 3.50
33 |¥BK [E 9.97 9.97
33 |2 HEKXER 9.97 9.97
35 [T EMAZFKER 9.68 5.50 418
36 |{kEE i 9.53 9.53
37 |ME *F 9.21 8.50 0.71
38 |B K 9.20 2.07 7.13
39 |ER EX 8.55 7.15 1.40
40 |EIZFAKHA 8.41 7.50 0.91
41 =R mE 8.26 4.06 4.20
42 [/ $KAER 8.20 6.50 1.70
43 |$BEE B3 7.90 6.50 1.40
44 |FEH KER 7.82 2.07 5.75
45 |BH BKX 7.71 5.00 2.71
45 |FEIL = 7.71 4.10 3.61
471 |G AP 7.70 7.70
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Q12 ~14RBF D A=RE-A—TOHBEY B=#X-TOv/HIBREK
[1: v K4 BEHRAUL | RBRAVL | HHRRA2L | R—FR
48 |WAIF ZREN 6.65 4.06 2.59
49 |I#E WK 6.48 3.56 2.92
50 (At #A 6.42 5.00 1.42
51 (MM HMZTE 6.00 6.00
52 |HiE BKE 5.87 1.80 407
53 (RO R 5.73 1.85 3.88
54 |Eik [FE 5.45 3.30 2.15
55 |&f B2 5.42 1.35 407
56 |ER &iE 5.33 5.33
57 | EBF = 5.28 5.28
58 |HLE XZ& 5.19 1.00 419
58 |4 E X 5.19 2.07 3.12
60 |FEHR & 5.14 4.30 0.84
61 INK B 5.00 5.00
62 |(FHH K& 4.99 2.07 2.92
63 |#RAT EX 478 2.60 2.18
64 | K& ZE 447 1.35 3.12
65 |{ERRIBEH 443 2.20 2.23
66 |ZHE fin 437 4.37
66 [IUT IR 437 437
68 [T FBX 433 3.56 0.77
69 | KIF &4 4.30 2.80 150
70 | REHKEA 427 1.35 2.92
71 A #K 423 1.85 2.38
72 |FH EBAKER 3.88 2.80 1.08
73 |ERE Kt 3.71 1.00 2.71
74 |ILO#E—EH 351 1.00 251
75 |fRlR BE 3.46 1.85 1.61
7% |BEe #E 3.17 2.40 0.77
77 |& vk 3.15 1.00 2.15
78 |HA&H= 3.11 2.20 0.91
79 |BE BFE 3.07 1.00 2.07
80 |RBi i 3.06 1.45 1.61
81 Tk ME 3.03 3.03
81 KiF ##E 3.03 3.03
83 |iEdh B 2.96 1.00 1.96
84 |RER Huf5 2.92 2.92
85 [/vEY K3E 2.91 2.20 0.71
86 |LLEBRIEEST 2.81 1.03 1.78
87 (Wl HE 2.70 2.70
87 |&5H ZTH 2.70 2.70
89 [44BF EEN) 2.65 1.15 1.50
90 [dtEH EX 257 115 1.42
90 |{EREHETER 257 1.65 0.92
922 |BFE EA 2.56 1.85 0.71
93 |EY =F 2.48 1.00 1.48
94 (IO KEf 2.24 0.00 2.24
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Q12 ~14RBF D A=RE-A—TOHBEY B=#X-TOv/HIBREK
[1: v K4 BEHRAUL | RBRAVL | HHRRA2L | R—FR
95 |fEHh TEE 2.23 2.23
96 |PAIER A A 2.22 1.00 1.22
97 |h#t % 2.17 217
97 |[EHE & 2.17 1.00 117
99 |[EA &\ 2.15 1.35 0.80
100 |FEH BE 2.15 1.00 1.15
101 |{Efk —= 2.13 1.00 1.13
102 (%% =3 2.10 2.10
103 |AH &t 2.08 2.08
103 [#A)Il ZEX 2.08 2.08
103 | R&JNFIEXK 2.08 1.00 1.08
103 |&FEZT 2.08 1.03 1.05
107 |—iI EfF 2.06 1.00 1.06
108 (FaIER %L 2.03 1.35 0.68
109 | KB\ AT 2.01 1.45 0.56
110 &3 K& 2.00 2.00
111 £ X 1.94 1.03 0.91
112 |4£Ffg 1%k 1.93 1.00 0.93
113 |sthEA FEEN 1.90 1.00 0.90
114 (%8 HE 1.88 1.88
115 |HAO L 1.79 1.00 0.79
116 |k FiE 1.76 1.00 0.76
17 |IUAR fZE 1.71 1.00 0.71
18 |EN =5 1.50 1.50
119 |Ek k& 1.45 1.45
119 (B EARE 1.45 1.45
121 |BJI] B 1.40 1.40
122 |#13 =R4R 1.36 1.36
122 |/t iy 1.36 1.36
124 | {h#F 1.27 1.27
124 |INE HiIE 1.27 1.27
124 | KRB BE 1.27 127
124 |(RFEHEKR 1.27 1.27
128 |E9348 HES 1.24 1.00 0.24
128 R BF 1.24 1.24
128 | KEIRAER 1.24 1.24
128 Bl ES 1.24 1.24
132 |HHE EH# 1.21 1.00 0.21
133 [IUHE #E&£ 1.20 1.20
133 |ZRR HRIR 1.20 1.20
133 |THIR Jtth 1.20 1.20
133 |RE 2R 1.20 1.20
137 | RAIN B 1.16 1.16
138 |hOpEk {BIE 1.15 1.15
139 /Mg I E 1.14 1.14
140 |BELZLHR 1.07 1.07
141 EE i3 1.04 1.04
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Q12 ~14RBF D A=RE-A—TOHBEY B=#X-TOv/HIBREK
[1: v K4 BEHRAUL | RBRAVL | HHRRA2L | R—FR
141 |fER E&E 1.04 1.04
143 |B B 1.03 1.03
144 | SHE/ 1.00 1.00
145 || BE%%{e 0.98 0.98
146 |57 IEE 0.95 0.95
147 |frE [EiE 0.94 0.94
148 |BEAR RE 0.91 0.91
148 | KT K& 0.91 0.91
150 |ARER tHZE 0.90 0.90
151 |8 EE 0.89 0.89
151 |BEEEL 0.89 0.89
153  |SUX#E 0.88 0.88
153 | EHA X 0.88 0.88
155 |JTpE K3} 0.86 0.86
156 |E% FIE 0.80 0.80
157 |&E% $% 0.80 0.80
158 |+ B 0.79 0.79
158 ||Eh B2 0.79 0.79
160 [IERIEZN 0.75 0.75
161 |HAM HRE 0.72 0.72
162 |fERE KJH 0.71 0.71
162 |HE B 0.71 0.71
164  [INREGE 0.68 0.68
165 (AT R&E 0.66 0.00 0.66
165 | KE TE 0.66 0.66
165 |ZBpE & 0.66 0.66
165 [JII#F @58 0.66 0.66
165 |WiH Bth 0.66 0.66
170 |[4£5 =KX 0.65 0.65
170 |82 fnth 0.65 0.65
170 |E#R K— 0.65 0.65
173  |$8K IR 0.63 0.63
174 |RIF BHIFA 0.62 0.62
175  |$kEF 2|3 0.61 0.61
176 |2% AKX 0.61 0.61
176 |fH =EE 0.61 0.61
176 |FBF #$H#E 0.61 0.61
179 |&FHH &£E1E 0.59 0.59
179 | AFEILEM 0.59 0.59
179 [FATH 1SR 3K 0.59 0.59
179  |#1E& B 0.59 0.59
183 | KH &{EH 0.57 0.57
183 |5t Kak 0.57 0.57
185 |AiI B 0.56 0.56
186 (JIlA@ &8 0.55 0.55
186 |;H/K XK 0.55 0.55
188 |X¥ W 0.54 0.54
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Q12 ~14RBF D A=RE-A—TOHBEY B=#X-TOv/HIBREK
[1: v K4 BEHRAUL | RBRAVL | HHRRA2L | R—FR
189 | K{\F HiE 0.53 0.53
189 |Z“EREHEX 0.53 0.53
191 | % 0.51 0.51
191 |BIE RE 0.51 0.51
193 |80 KR 0.49 0.49
194 |5 B 0.48 0.48
194 /MU B 0.48 0.48
196 | #FAl 0.47 0.47
196 |[RE 5K 0.47 0.47
198 |FR {E7F 0.46 0.46
198 | KFE 2N+ 0.46 0.46
200 |(FIEEHEE 043 043
201 |Fith [BM 0.42 0.42
201 | RAJIXF 0.42 0.42
201 |{fEFTSEXRER 0.42 0.42
204 |HER—ER 0.41 0.41
204 |HE FTHE 0.41 0.41
206 |AEH BE 0.41 0.41
206 =L FIK 0.41 0.41
206 |#K 2 iH 0.41 0.41
209 |FAH Eth 0.40 0.40
210 |#i K F|ER 0.39 0.39
211 |BERIEAER 0.37 0.37
212 |EH EA 0.36 0.36
213 |{RiE EF 0.35 0.35
214 |88 K GER{Z 0.34 0.34
215 |Hh X 0.33 0.33
215 |([hE BFE#W 0.33 0.33
215 |FELWU iz 0.33 0.33
218 | F# M@l 0.30 0.30
218 |[ER 2 0.30 0.30
218 |ElE K& 0.30 0.30
221 |{Epk BE— 0.28 0.28
222 |&F EIEK 0.27 0.27
223 |BiE X 0.24 0.24
223 |ty E&SY 0.24 0.24
225 |lLUEF HEX 0.22 0.22
226 AR FBBAX 0.21 0.21
227 |{REE R 0.18 0.18
228 |IUAf  ER 0.16 0.16
229 |5 BHE 0.15 0.15
230 |l 4L 0.11 0.11
231 |RR (ErE 0.10 0.10
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